Code Magnets

A working Java program is all scrambled up on the fridge.  Reconstruct the code snippets to make a working Java program that produces the output listed below.



Code Magnets









Answer:
class TestArrays {

   public static void main(String [] args) {


int[] index = new int[4];


index[0] = 1;


index[1]  = 3;


index[2] = 0;


index[3] = 2;


String[] names = new String[4];


names[0] = “Jessica”

names[1] = “Sarah”

names[2] = “Michael

names[3] = “John”

int y = 0;

int ref;

while (y < 4) {

   ref = index[y];

   System.out.print(“names = “);

   System.out.println(names[ref]);

   y = y + 1;

}
   }
}
Output:





names =  Sarah


names =  John


names =  Jessica


names =  Michael  





int y = 0;





ref = index(y);





names[0] = “Jessica”


names[1] = “Sarah”


names[2] = “Michael


names[3] = “John”





int ref;


while(y < 4 ) {





System.out.println(names[ref]);





String[] names= new String[4]





System.out.print(“names =   “);





y = y + 1;





class TestArrays {





public static void main(String[] args) {





index[0] = 1;


index[1] = 3;


index[2] = 0;


index[3] = 2;











